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= 2 82°;: =22 and the given
angle are alternate exterior
angles.

= S 82°; Z6 and the given
angle are vertical angles.

2 43 82°: =4 and thhe given
angle are correspondings
angles.

< 1L == 98°; <4 and <21 are
supplementary.

123°; 21 and L7 are alternate
exterior angles.

122°:; Z2 and =8 are alternate 4
interior angles and =8 and =5
are supplementary.
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119°; =5 and =3 are alternate
interior angles.

60°; Z4 and 6 are alternate
exterior angles.
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Z 1 = 108%, =2 == 108";
Because of altermnate interior
angles, thhe angle below

Z I Iis 72F. This-aiagiec s
supplementary to bothh _—~ 1
and 2.

Exterior angle with wall:
LB — 1S5 == LG6G5;
Exterior angle withh ground:
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